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1 8 5 1 0 7 0 9 3 4 2 2 9 2 1 7 8
2 5 0 9 5

Use the pieces above to help you fill in the runaway math puzzle.

5 x 5 = 5x

What is the value of x?

Each side of a regular 
pentagon is 89.4 
centimeters.  What is the 
perimeter?

What is the remainder of 
60 divided by 9?

Circle the percentage that 
is closest to 38 out of 66:
24%
5%
59%

9 x 9 x 9 = Zy

What is the value of Z 

and y?

If p = -4 and a = 16 then 
what is 12p - 10a + 2a = ?

- = -
÷ x

÷ =
= = +

+ =
=

-
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Only use a pencil to write the numbers on the blank 

lines.  You do not need any scrap paper!  Solve it in 

your head.  If you forget a number, then start over.  

Cool, huh?

imagine 8 in your 
head

subtract 4

multiply 10

imagine 9 in your 
head

double it

subtract 8

add 9

add 7

subtract 9

imagine 5 in your 
head

subtract 5

add 9

double it

add 8

imagine 5 in your 
head

subtract 4

add 8

subtract 8

Write the ones digit.

A

Write the tens digit.

B

Add the tens digit to 
the ones digit.  
Write the sum.

C

Write the number.

D

What is the sum?

A + B + C + D

Wow!  Great job!  That's the answer, but do you know how to SPELL the number?

n

8 after 12 6 before 19 7 before 16

3 after 11 1 before 14 3 before 13

4 after 17 4 before 18 5 before 17
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The block above is the sum of the two blocks below.  Fill in the missing blocks.

1 3.7 18.5 17 6.9 16.4 5 2.8

23.9

1634.1

9

6 1
2 14 5

6

45 1
3

8 ÷ 4 =  7 kg = g
Emily rolls a die.  What is the 
chance of her rolling a 2?
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Eric is keeping track of 
the number of grams of 
fat he eats. He wants to 
get in shape to run the 
220-yard dash. On 
Tuesday he ate 8 grams 
of fat at breakfast, 14 
grams of fat at lunch, 
and 7 grams of fat at 
dinner. How many 
milligrams of fat did he 
eat?

Maria wrote a report 
about Sally Ride for her 
science class. It took 
her an hour and 22 
minutes to write the 
report. If she began 
writing at 11:49 a.m., what 
time did she finish the 
report?

Mr. King bought some paint 

to make birdhouses. He put 

the paint in smaller cans so 

each student in his class 

could have a can. Each can 

holds 1 1
4

 pints of paint. He 

filled 15 2
3

 small cans with 

the paint he bought. How 

many pints of paint did he 

buy?

Megan is giving out candy, but you need 
to guess her favorite number if you want 
some.  Her favorite number has three digits.
The units digit is 1 more than the hundreds 
digit.
One digit in her number is eight.
The three digits add up to eighteen.
The units digit is 8 more than the tens digit.

Are you going to get candy?

Amy rolls two dice.  What is 
the chance of her rolling a 3 
on one die and a 5 on the 
other die?

1 cm = 10 mm

26 cm = mm
33 ÷ 3 = 348 - 342 =  

30 ÷ 6 = 
How many pounds are in 48 ounces?

 pounds 11 x 4 =  

7 x 8 = 
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Write the missing family fact.

50 + 84 = 134
134 - 84 = 50
84 + 50 = 134

11 x 9 =  8 7
- 7 0

The letters F, G, J, L, N, P, Q, R, S, 
and Z do not have line symmetry.  
The rest of the letters in the 
alphabet do.  Can you write 
someone's name where the 
complete name has line 
symmetry?  Hint: You cannot use 
all of the letters.  You could use B 
in a name, but M would not work.

4 0 3
+ 3 8 4

3 x 4 =  

8,218 + 5,897 =  9 4 2
- 6 9 9

2 2
+ 3 2

Write an equation to represent this:

The product of eleven and five is fifty-five.

Connor has three pennies and one dime.  
He also has one other coin that is different 
from the rest of his coins.  How much could 
he have?
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275 - 272 =  9 x 2 =  

The letters B and M each 
have a line of symmetry.  
Name another letter 
between B and M that has a 
line of symmetry.

5,478 + 4,785 =  

40 ÷ 4 =  

Anna and her little sister, Rosa, both have 
birthdays on the same day.  Anna is twelve 
years old.  Rosa is nine years old.  Did you know 
that Anna was once double the age of Rosa?  
How many years ago was that?

8,147 - 2,786 =  2 x 12 =  

5,777 - 1,741 =  

You cannot decide what pizza store to go 
to.  Megan's pizza cuts their pizza into 3 
slices.  Each slice costs $5 each.  Rose's 
pizza cuts their pizza into 6 slices.  Each 
slice costs $5 each.  If you like each pizza 
the same, which pizza store has the better 
buy?

Circle the greatest number:
91,867

25,309,761
843,720,156
5,403,284

Write this as a number in standard form.  
Use a comma in your number.

two hundred seventy-seven thousand,  
four hundred one

36 ÷ 6 =  

5 x 12 =  
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7 1 + 9 1 6 = 2 1 8 6 3 4 3 6 0
= 6 = 0

Use the pieces above to help you fill in the runaway math puzzle.

What Words?  Your Words!
Fill in the boxes with letters to make words.  Each box is worth points.  Earn points by filling in as many boxes 
as you can.  Sum up the points you earn for each word.

Make a Word Sum

S H
1

A
2

L
4

L
6

O
10

W
16

23

T H
1 2 4 6 10 14

A
1 2 4 6 8 12 16

Make a Word Sum

G A
1 2 4 6 10 16

P I
1 2 4 8 14

1

E F
2 4 6

word root bon can mean good bonus, bona fide

- 3 = 5 -

9

3 - 9 - +

8

- =

5 8 4 + 9 = 1

+ 4 = 8 2 + 7

5 8 - 7 7

= + 2 2 + = 5

1 2 + 4 = 8 1

0

2 + 8 + 3 1 3

5
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7 2 2 4 45 2 4 3 0 24 3 9 8 32 3 8 4

20 2 0 8 36 7 2 0 11 2 6 4 44 1 8 8 2

36 1 9 6 7 30 9 0 99 7 9 2 14 3 3 9

On a number line, what is 
the number that is 6 to the 
left of 2?

8 - 5 = 

 

8 + -5 = 

What is the number that is 
7 less than 5?

Round 17,607 to the nearest 
thousand.

Round the decimal 0.755 to 
the nearest hundredth.

How many centimeters in 
7.9 meters?
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

What is the greatest 
common factor of the 
numbers 90 and 105?

(0.4)(0.13)
8
10

 x 1
10

48,  11,  43,  25,  38,  39,  

33,  53,  28,  67,  23,  

,   18,  95

0.9  8 = 
The unknown value x is a 
multiple of 6, is greater 
than 132, and it is divisible 
by 14.  What can be the 
lowest possible value of x?

Simplify.

8,800
13,200

 = 

7
11

 x 3
10

|-15| - s = 8

s =

4
18

 ÷ 5
6

 =
2 x (24 ÷ 3) - 27 ÷ 9 = 9 x 35 ÷ 5 - 45 ÷ 9 = 
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Noah, Amber, Christina, Makayla, and Kaitlyn counted the number of pennies that they 
saved.  Each person had a different number of pennies. One has six hundred sixty-one 
pennies, one has three hundred fifty-six pennies, one has one hundred seven pennies, one 
has five hundred twenty-two pennies, and one has two hundred ninety-nine pennies

How many pennies does each person have?

1. Among the number of pennies that everyone has, Kaitlyn's total has the smallest number 
in the hundreds place.

2. For the number of pennies that Noah has, the hundreds place is three more than the 
ones.

3. The sum of the ones and tens place in the number of pennies that  Christina has is 
eleven.

4. Among the number of pennies that everyone has, Amber's total has the largest number 
in the ones place.

Noah has  pennies.

Amber has  pennies.

Christina has  pennies.

Makayla has  pennies.

Kaitlyn has  pennies.

12 ÷ 3 =  

You can buy 2 cards for $6 at 
the store.  At this rate, what 
would be the cost of eight 
cards?

4 x 10 = 

What time is 17 hours after 
5:00 p.m.? 12 x 6 =  

https://www.mathworksheets.com





